16CH 25mw mini VTX Micro F3¥izZiER

a4
FHRAEBRF RS AT, EBE, PME. B sesevhz [ ssoevhz B s7osvhz ][ 5790Mhz 1] oo
BRIRNRTI, BEEERSEIN T, Bl seosmhz M s5843vhz [ 5740Mhz [ 5820Mhz 2] vee
RA£HAIBLheli_SHI&—RI, FEEIFFMULTISHOT, ONESHOT, DSHOT. 3 |CHUPPM
N 5732Mh 5880Mh: 5760Mh 5860Mh: ) Ty
BRI, #8Micro F3 U2, 1% R #fBetaflight 3.0.1-SPRACINGF3TZ¥, —— - HE - HE : UH ‘ e B HESuspaR
BRI T S R B SRR AP IDIE BE R INAK B[] seomhz W [] 5917Mhz B[] s78omhz [][] 5945Mhz e nnee
) . 6|54 |3|2]|1
%*ﬂ.mﬁﬁ'_ﬁ’jﬁﬁgﬁﬁ ’ CHS MB‘MS‘MA‘M3‘M2‘M1
M4 CW(A) 8] ct6 - ggg gga\ vce
(\A 9| LeD |ToLeDstip| 999 99 o‘ oo 198 T &5 AR
- Bl RIS FFF K i@iE 5 R
cow®) L ATHRSRY 2. 5 Load Firmware[Online]
A5 S5 || Firmware Flasher
& FEIRE R A $RIEME | Flash Firmware T3
w “ShoieE o EeEuE, FHEERRAE,
M3 [3.0.1-[SPRACINGF3]-16-10-2016 17:09(stabl ___~ ] Il © BiidNE Tl R
No reboot sequence
Flash on connect
Full chip erase
R Manual baud rate [256000 ~]
i‘zﬁ@%ﬁs‘ﬁ{%#‘%EE‘J’PERT%*R@E%%&%MZ*S. \ Show unstable releases
KRR FARIPIRATE E IR L FIM2*3. d
= 3T BAREXMIBISRME R XBERS (AUX1) , BRFERBENER
e Yl (AUX2) o
BRER
KITREH -
iR . 90mm
KIERYE:  Micro F3 (betaflight)
FRIEHL: KINGKONG 1103-7800KV
FCRIEEIE:  4in1 BLheli_S 3A 28 AIO ESC (MULTISHOT, ONESHOT, DSHOT)
Bk 16CH / 25mW
Bigk:  800TVL/150°
Bt : 350mAh 35C 7.4V
BE: 4299 CFRBRAAE) 90GT PNP *1 R
RF 1 {
85555000 J
. . - 70103
M2x5 *8 350mAh 25 *1 A5mmiZHEIR *4%F
Product overview 16CH 25mw mini VTX Micro F3 flight controller hardware connection
Drone frame use 2.0mm carbon fiber composite material, lightweight and strong.
Small size body apply to indoor and outdoor flying. Bl ss58vhz [ 5806Mhz Bl s705mhz [l 5790Mhz 1| e USART2
Use new BLheli_S AIO ESC, support MULTISHOT, ONESHOT, DSHOT. B seosmhz [ s5843vhz [ 574omhz ][l 5820Mhz z CH\:TPCPM
FC and ESC use modular design (Micro F3 FC, Betaflight 3.0.1-SPRACINGF3 firmware). BEE s5732mhz B 5880Mhz Bl 5760Mhz (]l 5860Mhz o . 7o S.BUS/IDSM Receiver
The refresh rate of gyroscope and PID calculate at 4KHz. 5| o pWM"/ppM
W] s769vhz [ ] 5917Mhz W] s780Mhz [ ][] 5945Mhz i Receiver
T o o [s[afae]
6|5|4|3]|2 1
S D G MOtor mlxer ; o MB‘MS‘MA‘Mz‘MZ‘M1
8 CHé
000 00 o‘ vee
9| LED |ToLEDSHip| 38 553 GND Manual of FC

ﬂ M2 oW (A

con ) 1.0pen betaflight configurator 2 Cilck | Load Firmware[Online]
then click [ Firmware Flasher

(4

INSTRUCTION MANUAL

Firmware update

then click | Flash Firmware to

“ select FW version
[ SPRACINGF3 -] download FW to FC,
w1 3.0.1-[SPRACINGF3]-18-10-2016 17:09(stabl ~ Cilck u after FW updating finish

No reboot sequence into settings menu.

Flash on connect

Full chip erase

NOTICE: . ) | Manual baud rate 256000~
Please use M2*5 screw when install propeller

protection cover, use M2*3 screw without
propeller protection cover.

Show unstable releases

® 3.Default setting of receiver is 5th channel ARM, 6th channel MODE switching.

Packing list

Configuration
Wheelbase: 90mm
FC: Micro F3 (betaflight)
Motor: KINGKONG 1103-7800KV
ESC: 4in1 BLheli_S 3A 2S AIO ESC (MULTISHOT, ONESHOT, DSHOT) .
Propeller protection cover *1
VTX: 16CH / 25mW

Camera: 800TVL/ 150°
Battery: 350mAh 35C 7.4V
Weight: 42.9g (without receiver and battery)

Wrench *1

~3-

M2x5 *8 Battey 45mm Propeller *4Pairs
350mAh 2S *1 70103

45535000




